l I | ‘ I l E l T0i V1.0-2025226 Go RFTOP

R I Soliae:
T

A

SEHER M4T-100 &=

M4

SZMRTE (Bl mm) REX1%

MATEL#E

M4 5 E 504

M4BZ$T 107

MA*E MA*8 M4A*10
MA*12 M4*16 M4*20
M4*25 M4*30 M4*40

M4*50

EXRERF
BLsSHEI0D

BERHE501
R
g e
M4*6 Bolt 10t
M4*8 Bolt 10
M4*10 Bolt 10
M4*12 Bolt 101
M4*16 Bolt 10t
M4*20 Bolt 10
M4*25 Bolt 10
M4*30 Bolt 10t
M4*40 Bolt 10t
M4*50 Bolt 10
M4 Nut 507
M4 Shim 501
Hex Wrench 1ig
~miEl
FmEs M4T-100
ESr Y p Passivated stainless steel

NiERE RFTOPCSR{A MK www.rftop.cn MiERE
XKEFEA] B R RRE R R SR R service@rftop.com 0755-88840350 EEEs |



https://www.rftop.com
https://product.rftop.com/Generic-M4T-100.html
http://www.rftop.cn
mailto:service@rftop.com

